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£ FREERER = (BOD) mg/| 5LTF 05 ki 5%
{EZERIEEFRER=(COD Mn) mg/| 10LLF 40 &%
FlEPE = (SS) mg/| 5LLTF 1.0 £ 5%
KIGEEH B/cm® 1000LLF 0 =Xi
BE E 20LLF 1 Xt =Eis
TFUOEZT-TUEZOLILED
BREIL AR URBILAY me/| — 1.7 (B%18)
TUOEZTHER mg/| AL 05 ki =X
BIERMER mg/| — 0.10 (BE(H)
HEEER mg/| — 1.6 (BE(H)
EXSE=E mg/| 10LLF 25 =Eis
IHEE=E mg/| 1T 0.06 k& =X
Y BRAAY mg/| 05LTF 0.07 =X
BIRE S 300 E 30 LLE =R
REBIER mg/| — 0.05 (BE(E)
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[FLOCA (TR o/m° 0.15L4F 0.011 ki X0l
R ppm 1504 F 63 &%
REERE Y m>/h 413LLF 2.2 =X
1Biek= ppm 215 7 K 5%
FAFX5E ng-TEQ/m’ 5L F 0.0014 =Xi-)
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FUOEZT 1LUTF 0.1k 0.1k & 0.1k & 0.1 ;i a1
mIbKE 0.01LLF 0.002% ;i 0.002% i 0.002% 55 0.002:K i =ki
AFILAIHT R 0.001LLF 0.0002K ;i 0.0002K 5% 0.0002K ;i 0.0002 jif =X}
RAEAFIL 0.005LLF 0.001% i 0.001% i 0.001% 5 0.001K % =ki
ZERAEAFIL 0.009LLF 0.0009kK ;i 0.0009K 5% 0.0009K ;i 0.0009 jif =X}
RJAFILT IV 0.005LLF 0.0005% % 0.0005K % 0.0005k % 0.0005K % =ki
FEr7ILTER 0.05LLF 0.005K &% 0.005K % 0.005k i 0.005 jif =X}
JOEA 7 ILTER 0.05LLF 0.005% i 0.005% i 0.005 ;5 0.005K i =ki
JILRIVIFILTILTER 0.009LLF 0.0009K ;i 0.0009K 5% 0.0009K ;i 0.0009 jif =X}
A JITFILTILTER 0.02LLF 0.002% ;5 0.002% i 0.002% 55 0.002:K i =ki
JILRILINLIILTIILTER 0.009LLF 0.0009K ;& 0.0009K 5% 0.0009kK ji& 0.0009 jif =X}
AYINUILTILTER 0.003LLF 0.0003% % 0.0003K i 0.0003% % 0.0003K % =ki
A1VIT5/—)L 09T 0.09% % 0.09% & 0.09% % 0.09k i =X}
BEER T F )L 3T 0.3k 0.3k % 0.3k 0.3 =i
AFILAVITFILT Y 1UTF 01K 0.1 01K (RES =X
kLT 10LLF 1K 1K 1K 1K =L
AFLY 04LUTF 0.04%K % 0.04%K i 0.04kK % 0.04k i =X
FLYv 1UTF 0.1FKH 0.1k#% 0.1FKH 0.1k =L
JoEA B 0.03LLF 0.0033 ;i 0.003% ;i 0.003 ;i 0.003K % =X
/L= LA 0.001LLF 0.0001k % 0.0001 K% 0.0001 k% 0.0001 K% =L
JILRIVEERE 0.0009LLF 0.00009FK;% [ 0.00009%&% | 0.000095# | 0.00009K i =X
AVEER 0.001LLF 0.00015k#% | 0.0001k:# [ 00001k | 0.0001XKi& =X}
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FOEZT 4L T 0.032 ki &%
it KE 0.44LLF 0.00064 k& =X
RJAFILTIV 0.22LLF 0.00016 ki =L
JOE#x 7ILTER 220 F 0.0016 i =X
JILRIVIFILTILTER 0.40LLF 0.00029 ki =L
A TFILTILTER 0.89LLF 0.00064 k& =X
JILRILINLUILTIILTER 0.40LLF 0.00029 ki =L
AJILILTIILTER 0.13LLF 0.000096 k& =X
1)T5/—)L 40LLF 0.029 K& =L
BEERTFIL 1300 F 0.096 X iE =X
AFILAVITFILT LY 44LLTF 0.032 ki =L
e 440LLF 0.32 ki =L
LY 44LLF 0.032 Kb =i
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T K (Bf7:mg/1)
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AFILAIVATRY 0.0034LLF 0.001 K& &%
mib K& 0.012LLF 0.001 XK =Li
BiEAFIL 0.0345LLF 0.001 k& =L
ZERIEAFIL 0.126LLF 0.001 k& =X
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